SIMODI VALVE BT

BVR-3T =@ HEIE A A KRS

P Enit el
SPECIFICATIONS
*\FEES] 0 1/4" ~2" 1000PSI WOG
Working Pressure: 1/4" ~2" 1000PSI WOG
“EFREEEE : -20~180°C
Temperature Range: -20 ~ 180°C
*[5)5 e Blow-Out-Proof Stem Design
“f52451% Investment Casting
*IQPCF';EE Solution Treatment
“[FEFEE4EE Antistatic Device
*PUHEEE Four Seats
R - PIMRAY
End Types: Female Threaded
“HMESEE (7112 ) Locking Device (option)
*HimeE Reduced Bore

BU8R : BVR-3T

PORT
TYPE

MATERIALS LIST

NO | PART NAME MATERIAL
1 BODY ASTM A351 Gr.CF&8M
2 CAP ASTM A351 Gr.CF8M
3 BALL ASTM A351 Gr.CF8M
4 BALL SEATS PTFE
5 STEM S.5.316
6 | THRUST WASHER PTFE
7 END SEALS PTFE
8 | STEM PACKING PTFE
9 GLAND S.5.304
10 HANDLE S.5.304
1 WASHER 5.5.304
12 WASHER 5.5.304
13 | HANDLE NUT 5.5.304
14 CAP ASTM A351 Gr.CF8M
15 END SEALS PTFE
16 STOPPER 5.5.304
17 SCREW 5.5.304
18 | HANDLE SLEEVE VINYL GRIP
DIMENSIONS Unitmm
SIZE d L H D F A B c N M E G |watvom)
174" | 11 |e9.3| 58 | 132 | 34.7 |[10.35|5.35 | o 4 M5*0.8 | 42 | 12 [ 33
3/8” | 11 |69.3| 58 [ 132 | 34.7 [10.35(5.35| 9 4 M5%0.8 | 42 | 12 [ 33
172" |12.5 (757 | 61 | 132 | 38.3 |10.35|5.35 | 9 4 M5%0.8 | 42 | 12 [ 33
3/4” | 16 |86.6| 82 [ 180 |44.7 [13.85(6.85| 11 [ 4 Me*1.0 | 50 | 15 [ 50
1" 20 [ 103 |87.5| 180 [50.8 | 20 |85 | 11 | 4 Me*1.0 | 50 | 15 [ 90
11/4" | 25 [118.2] 93 | 180 | 57.7 [19.35(7.85| 11 | 4 M6*1.0 | 50 | 15 [ 170
112" | 32 [125.8] 104 | 210 | 62.6 [25.75[10.25] 11 | 4 M8*1.25 | 70 | 15 | 220
2” 38 | 149 | 112 | 225 [ 74.3 [25.25(9.75 | 14 | 4 M8*1.25 | 70 |18.5 | 380

Website:Http://www.simodi.com.tw Email:sales@simodi.com.tw



